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 ∫ (𝑥 − 𝑦)2𝑓(𝑦)𝑑𝑦
1

−1

= 𝑥2 ∫ 𝑓(𝑦)𝑑𝑦
1

−1

− 2𝑥 ∫ 𝑦𝑓(𝑦)𝑑𝑦
1

−1

+ ∫ 𝑦2𝑓(𝑦)𝑑𝑦
1

−1

 

𝐴 = ∫ 𝑓(𝑦)𝑑𝑦
1

−1

, 𝐵 = 2 ∫ 𝑦𝑓(𝑦)𝑑𝑦
1

−1

, 𝐶 = ∫ 𝑦2𝑓(𝑦)𝑑𝑦
1

−1

は定数であるから 

 𝑓(𝑥) = 2𝑥2 + 𝑥 +
5

3
− (𝐴𝑥2 − 𝐵𝑥 + 𝐶) = (2 − 𝐴)𝑥2 + (1 + 𝐵)𝑥 +

5

3
− 𝐶 

 

 𝐴 = ∫ {(2 − 𝐴)𝑦2 + (1 + 𝐵)𝑦 +
5

3
− 𝐶} 𝑑𝑦

1

−1

= 2 [(2 − 𝐴)
𝑦3

3
+ (

5

3
− 𝐶) 𝑦]

0

1

= 2 (
2 − 𝐴

3
+

5

3
− 𝐶) 

 3𝐴 = 2(2 − 𝐴 + 5 − 3𝐶) ∴ 5𝐴 + 6𝐶 = 14 ──① 

 

 𝐵 = 2 ∫ {(2 − 𝐴)𝑦3 + (1 + 𝐵)𝑦2 + (
5

3
− 𝐶) 𝑦} 𝑑𝑦

1

−1

= 4 [(1 + 𝐵)
𝑦3

3
]

0

1

=
4(1 + 𝐵)

3
 

 3𝐵 = 4(1 + 𝐵) ∴ 𝐵 = −4 

 

 𝐶 = ∫ {(2 − 𝐴)𝑦4 + (1 + 𝐵)𝑦3 + (
5

3
− 𝐶) 𝑦2} 𝑑𝑦

1

−1

= 2 [(2 − 𝐴)
𝑦5

5
+ (

5

3
− 𝐶)

𝑦3

3
]

0

1

= 2 (
2 − 𝐴

5
+

5 − 3𝐶

9
) 

 45𝐶 = 2(18 − 9𝐴 + 25 − 15𝐶) ∴ 18𝐴 + 75𝐶 = 86 ──② 

 

①、②より 𝐴 = 2, 𝐶 =
2

3
 

𝑓(𝑥) = (2 − 𝐴)𝑥2 + (1 + 𝐵)𝑥 +
5

3
− 𝐶に代入すると ∴ 𝑓(𝑥) = −3𝑥 + 1 ⋯ ⋯ (答) 


